EARAROBREBRT —5 XN—ZXBISH—F 202278318 (B) 108&R18

B UoxEF A2 U5%3@

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1000 =

[KEE] 1&:410,00H ~ 2&:131,000H  37#%&:6500M  4%&:49,000H  53&:41,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S s 3 | BUIER 1:30.0 2-2-2-2 |38.7] - 1 408 |EEE &R
1189 | A—ILbDY 3D 54.0 =) 7 |bFovavEE @
RiALYITSvIEI B:TIAARDYID milll BEER
b=\ BT :30. -1-1- . = BEHE" (&R
W, v7s5vr== 3| RO WA | B - | 7| = |eEEs
RiVILN=RF—bt #:7905F5%v b~ ML AR
JEIZIATT : -3-3- - TEERE (R
3lglg | FyF—TFa1—b 4% 3 i 1.(331).0 3-3-3-3 |39.4 4 21_73 e (&R)
R:DOVI—FFa—t B:OVITFYRU—Y SAVEYRT7—L
—= _ t 3 | MPEth 1:31.5 6-6-5-5 |39.2| - 6 | 445 |FE—tE (&R
4 4 NRI—Zv)b—F 54.0 2172 (-10) | BEXH
RIN—EVIr— BiAVILEY EHT7—L
N 3 | SREA 1:31.6 7-7-7-4 | 38.8| — 5 | 456 | DOEADE (&R
sy 6| VN 5.0 &8 Gy | mEE
KR40 B:NVF—Ib I5v 0 - AF—=D
W\ — hEHEth 132, -5-6- . - BREF (&R
6 3| PRAVN=— 4 3 i 1 (322) 0 5-5-6-6 | 39.8 3 z:é;t it
RiIALLALITV R B:PIAYILSF KT 7— LI
= 0 it 3 | KEx 1:32.1 8-8-8-8 |38.9| - 8 437 | NOERIE (@R
71111 | TIXTFaL—Y— 54.0 1) (1) | BAEAER
R:ZvF—7A) B:N\vE—D-T BT 7—LA
t 3 | EEELE 1:33.2 4-4-4-7 | 41.3| — 2 | 41 |HE—th &R
8|55 IFr2 AR © Gy | =mEs
RIRIIATAvIIFUT7— B:7AFY—UTL [aarte ]
~ t3 | SAK— 1:33.8 9-9-9-9 |39.4| - 9 | 410 |MEEHE &R
RiFXF B:7E—IL2 /=Y ITr—1L
@ 11— —‘@BIEfI
13—3— 2,9,8,5,3,4,6,1,7
20—7F— 2,9,8,5,3,4,6,1,7
30—7— 2,9,8,5,4,3,6,1,7
43—F— 2,9,8,6,4,3,5,1,7
o ILRE
BB 9 100/ JA R 2-9 520/ & 2-8 1,190 3EE 2-8-9 2,610
B B 9 100M4 8-9 230 =] 8-2 940M4 3EE 9-2-8 6,430
2 3804 2-8 2,550 5 & 2-9 1,490
8 170 BB 9-2 1,040

ABIC OV TRUTEREERRODDZE. THRIIZEL.




